3[EER (A—RHDER) ]

- YN RRICEAR | REREEEE

XMEHE |2 &% & O—R4%

(BxMEHT) (BxMEHT) (BxzlHd)
I = ix nips E 56 114 2.04
NEF |FA B|& R =i 56 66 1.18
m pa) =5 B &E 56 81 145
N /I 5 E 5 56 103 1.84
a—XH| & 224 364 1.63
4[EER (BAHIDFER) ]
% YN - ERICEAR | KBEE/EER
XTEHAE |2 &% &
(BxEHT) (BxzHT) (BLEHT)

e # = 284 686 2.42
B R P fi] 124 130 1.05
= B = H n 252 323 1.28
X H E S & 156 175 1.12
HEA |5 (3 220 455 2.07
it pii = 170 181 1.06
R 1B R B A & 156 177 1.13
=5 X R I 156 174 1.12
NEF |F i5 188 202 1.07
Eas |E ) F 252 365 145
HEsl | 7K 188 263 1.40
B 4w E 2,146 3,131 1.46




S[EEH (BVNVREEFRDR)]

% YN - | BRICEAR | RREE/EER
RMEHE |2 % &

(B&fHT) (BxEHT) | (BxEHT)
b = 52| 18 22 1.22
X &= tr B 13 30 2.31
A % =] £ =) 13 15 1.15
& B X R &t 44 67 1.52
I =R ix N 6 0 0.00
"B S B 6 0 0.00
NEF |E T & 6 0 0.00
51 & ® R B 18 0 0.00
BMREAEIRE 62 67 1.08
% YN - RRICEAR | RRGEEE

(B&MEHT) (BxREHT) | (BXEHT)
T A OEt 24,219 35,204 1.45




